Rationals

Name:

1.  What is the domain of the function?

3
=7 - ——
fW=7-—>
A. all real numbers B.
C. all real numbers except 2 D.
3 4
2. Simplify: —— —
LY x+2 x2-4
3x -2 3x+ 10 C
x+2)(x=2) T+ 2)(x—2) '
4
3 Solve: + =2
by x+2
3 3
A -2, 3 B. -3,2 C
. ) 1
4.  State the range and domain of the function y = — +3
X
5 3x
5. Add: + —
2x—8 x2-16
11
e B, _ lx+d C.
2(x — 4)? 20+ Hx -4
2
a+T7a+12 a-3
6.  Multiply: .
wHPY a?-9 a+3
a+4 a—4
B. C.
a-3 a+3
2
x*+3x—-10 x+2
7. Multiply: .
Py x2—4 x2 -9
5 x+5
A. B. C.
x—9 x-9
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Date:

all real numbers less than or equal to 7

all real numbers except 7

3x—10
(x—-2)°
8
-5 D.
11
x+ 20 D.
2+ DH(x—4)
a+4
D.
a+3
5
s D.
x> =9

3x—10
x+2)(x=2)

11x + 20




8.

9.

10.

11.

12.

13.

14.

15.

Solve: 2=5 x+1 X
T2 +3x—10 x+5 x-2
A [=1,7) B. {-1,-7)
1
24—

The expression

LN equivalent to:

2n+1 n
A. B.
n 2n+1
2 2 2
. . a - —b (a+b)
Simplify: +
tmpity 8a 4a3
a*(a + b) a*(a—b)
2(a + b) 2(a + b)
2 2
xc—=x-=2 2x°—=3x-2
Simplify: =
pHLy X2 4+6x+5 4x2 — 1
x+D2x-1 2x—1
(x+3)(x+2) x+5
3 2 1
Solve: = -
onve X24+x—-6 x+3 x-=2
A. -1 B. 0
4a—28 a>—-49
implify: +
Simplify: — 3a-21
2a—17) 2a — 14
(a+7) 7
S5x 2x
Simplify: -
TmpHLy x—1 x=2
3x2 — 8x X2 =3x+2
x-Dx-2) x-Dx-2)
x—3 5
Simplify: —— +
mpHLy x—2 x+2
A 2 +4x-16 B x—15
x2 — 4 2x
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C. {-1,2}

C. 2n+1

a*(a+b)
2(a —b)

x+5
2x—1

a?+4a-"77
6(3a —21)

x% + 12x

(x—Dx-2)

S5x—15
xX2—4

D.

D.

{19 _7}

nn+1)

a*(a—b)
2(a — b)

1
x+2)(x+3)

a—38
6(a—=17)

3x2 + 12x
x—-Dx-2)
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16.

17.

19.

20.

21.

22.

23.

+4
Subtract and simplify: al

1

X2 +3x— 10 ' x2-3x-8

Find the domain of:

3
4 —x?

fx) =

X+6x+5 x2-5x+6

Multiply: .
Py X2 +2x—8 2+2x-15
x+1 x—1
B.
x+4 x+4
5
Solve for x: + =
x—=2 xX2—-4x+4
A {8 B {#.-1)
3% —6x 3x2 +5x—2
Simplify: .
P e e =3
—x B —x(x —2)
3x+1 TBGx-DEx+2)
3x—15 x*-25
implify: =
Simplify: — 25— 10
3(x—15) B 3x—5
2(x+5) ’ 4
Solve: Sx—1 _ 5x+6
T 4x =2 4x+2
A =2 B. —-%
2 2
c—=3c—-10 c- =25
Simplify: =
pHLy 2 -4 2+2c-15
c+2 c—3
B.
2(c —3) c?

2 4+3x—10 x2—6x+8
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2x
2x2 —=3x -2

x+1

{51}

x(x—2)

Gx—D(x+2)

3(x—=95)
x+5)

(Sl

c—3
c—2

o

_x2—16x
x+5

x—1
x—4

&1

—x(x + 2)

Gx—D(x+2)

(x=35)
2(x+5)

EN[)]

2(c-13)
c—2
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1.
Answer:

Objective:

2.
Answer:

Objective:

3.
Answer:

Objective:

4,
Answer:

Objective:

5.
Answer:

Objective:

6.
Answer:

Objective:

7.
Answer:

Objective:

8.
Answer:

Objective:

9.
Answer:

Objective:

10.
Answer:

Objective:

11.
Answer:

Objective:

12.
Answer:

Objective:

13.
Answer:

Objective:

14.
Answer:

Objective:

FIF.1

A.APR.7

B
AREI2

x#0and y #3

FIF.1

A.APR.7

A.APR.7

A.APR.7

A.REIL2

A.APR.7

A.APR.7

A.APR.7

A.REL2

A.APR.7

A.APR.7
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15.
Answer:

16.
Answer:

17.
Answer:

18.
Answer:

19.
Answer:

20.
Answer:

21.
Answer:

22.
Answer:

23.
Answer:

Objective:

Objective:

Objective:

Objective:

Objective:

Objective:

Objective:

Objective:

Objective:

A.APR.7

A.APR.7

x# 2,2

FIF.1

A.APR.7

A.REL2

A.APR.7

A.APR.7

AREIL2

A.APR.7



